## **DOCUMENT**

(NIT No. : RGNUL/CMW/97) Dated : 01/04/2016

Construction of Service road behind Auditorium at RGNUL, New Campus, Sidhuwal, Patiala.



(Construction and Maintenance Wing)
Rajiv Gandhi National University of Law, Punjab,
Patiala



# RGNUL, PUNJAB (Construction and Maintenance Wing)

### **TENDER DOCUMENT**

TENDER NO.	1	RGNUL/CMW/97
NAME OF WORK	3	Construction of service road behind Auditorium at RGNUL, new Campus, sidhuwal, Patiala.
EARNEST MONEY	ì	2% OF BID AMOUNT.
COST OF THE TENDER		Rs 1000/-
TIME ALLOWED	1	ONE MONTH.
DATE AND TIME OF ISSUE	1	02/04/2016 TO 11/04/2016
OF TENDER DOCUMENTS		(UPTO 10:00 A.M.)
DATE AND TIME OF	1	11/04/2016
RECEIPT OF TENDERS		(UPTO11:30 A.M.)
	2	11/04/2016
OPENING OF TENDERS		(AT 12:00 NOON)

NAME OF FIRM:		
NAME OF WORK: Con Campus, Sidhuwa	struction of service road behind Auditorium at RGN I,Patiala.	IUL, new
	Certified that this Agreement ( Pagetowh	
Accountant Superinten		ty Engineer RGNUL

This	Agreement made thisday of	
Univers	Gandhi National University of Law, Punjab, Patiala through the sity") of the other part. Whereas the Contractor has offered for the ehind Auditorium at RGNUL, new Campus, Sidhuwal, Patiala ed offer for the execution of afore mentioned work. NOW THIS DWS:	e Registrar (hereinafter called "The e work of <b>Construction of service</b> and the University has accepted his
1.	In this agreement, words and expressions shall have the sassigned to them as per the general conditions of contract encloses	
2.	The following documents shall be deemed to form and be constr	rued as part of this Agreement:
(i)	The "NOTICE INVITING TENDER" AND "INSTRUCTIONS ANNEXURE - 'I' with this agreement.	S TO TENDERERS" enclosed as
3.	The work will be executed strictly according to specifications are of work as per quantities specified therein at the accepted rates.	•
4.	All correspondence and modifications, if any and acceptance let	ter will from part of this agreement.
5.	The University hereby covenants to pay the Contractor, in consprice in the manner as specified in this Agreement.	ideration of completion of works, the
IN WIT	NESS THEREOF THE PARTIES HERE TO SET THEIR RESPE	CTIVE HANDS AND SEALS
ON TH	E DAY AND YEAR MENTIONED ABOVE IN THE PRESENCE O	F WITNESSES AS UNDER:
	and Address of the Contractor	Signature of Contractor
-	sealed and Delivered by	in the capacity of
In pres	sence of (Name and Address)	
Witnes	ss No. 1	
		<b>Registrar</b> For & on behalf of the
Witnes	ss No. 2	Rajiv Gandhi National
		University of Law, Punjab Patiala (RGNUL)

#### **BILL OF QUANTITIES**

## NAME OF WORK:- Construction of service road behind Auditorium at RGNUL, new Campus, Sidhuwal, Patiala.

Sr No.	Description	unit	Appx Qty	Rate to be quoted by the bidder	Amount
1	Excavation for roadway in soil by mechanical means with hydraulic excavator including cutting and loading in tippers including trimming bottom and side slopes with all leads and lifts up to 1000m as per technical			uie biddei	
	clause 301 of MORT&H specifications	Cum	204.97	80.39	16477.54
2	Compaction of earth work & preparation of sub grade including levelling, loosening of earth work 225mm. Thick.	Sqm	672.84	6.42	4319.63
3	Providing and laying of Brick on end edging 6.83cm wide, 11.11cm long and 22.86cm high half brick deep including excavation, refilling and disposal of surplus earth up to 50mtr complete as per Punjab PWD specifications	Rmt	247.80	60.84	15076.15
4	Construction of granular sub-base by providing close graded material grading -I, spreading in uniform layers with motor grader on prepared surface, mixing by mix in place method with rotavator at OMC, & compacting with vibratory roller to achieve the desired density, complete as per technical clause 401 of MORT&H specifications	Cum	48.30	1424.20	68788.86
5	Providing, laying, spreading and compacting stone aggregates of Grading II to water bound macadam specification including spreading in uniform thickness, hand packing, rolling with smooth wheeled roller 8-10 tonnes in stages to proper grade and camber, applying and brooming Water Bound Macadam Grading II requisite type of screening/ binding Materials to fill up the interstices of coarse aggregate, watering and compacting to the required density complete as per technical clause 404 of MORT&H				
6	specifications  Providing, laying, spreading and compacting stone aggregates of Grading III to water bound macadam specification including spreading in uniform thickness, hand packing, rolling with smooth wheeled roller 8-10 tonnes in stages to proper grade and camber, applying and brooming requisite type of screening/binding Materials to fill up the interstices of coarse aggregate, watering and compacting to the required density complete as per technical clause 404 of MORT&H specifications	Cum	44.89	2019.40	90650.87
7	Surface Dressing Providing and laying surface dressing in single coat using crushed stone aggregates of specified size on a layer of bituminous binder VG-10 @ 1kg per sqm laid on prepared surface after cleaning the road surface and rolling with 8-10 tonne smooth wheeled steel roller complete as per technical clause 510 of MORT&H	Odiii			
8	specifications Providing & fixing Plain Cement concrete kerbs	Sqm	598.50	43.05	25765.43
0	300x300x150mm. With M20 grade concrete.  Precast Cement Concrete Channel Plain cement concrete M-20 grade precast channel 300mm wide &	Rmt	157.80	397	62646.6
9	75mm thick fixed in position on earth base including carriage to siteof work complete as per technical clause 408 of MORT&H specifications	Rmt	157.80	262	41343.60
	TOTAL				420837.01

	Signature of the Tenderer	
Dated:	Name and Address of Tenderer	

#### Conditions of the contract

- The bidder shall deposit 2% of bid amount as quoted by bidder as earnest money in the shape of Cheque or Demand draft. Earnest money of the unsuccessful bidders shall be refunded after the allotment of work. Earnest money of the lowest bidder shall be refunded after successful completion of the work.
- 2. Subletting the work after its award is not permissible.
- 3. Final payment shall be made after completion of the work up to the entire satisfaction of the Engineer-In-Charge.
- 4. The quoted rates shall include components related to labour laws. The contractor has to abide by all the labour laws and to deposit due amounts under these laws already covered in the quoted rates. Proof of deposit of Service tax shall be submitted for reimbursement.
- 5. The agency shall remove all debris / waste etc and clear the site before handing over.
- 6. Non compliance of instructions of the authorities of the Institute or delay in completion of the assigned work or non removal of defects in time; the Institute shall be free to get the job done or get the defects rectified through any other agency at the risk and cost of the contractor.
- 7. The work shall be completed within one month from the date of issue of acceptance letter.
- 8. Income Tax and other taxes as applicable shall be deducted from the contractor's monthly bills.
- 9. The contractor / supplier shall be responsible for any damage caused to any property of the campus and make good all such damages at his own cost.
- 10. The contractor / supplier shall indemnify under Work Men's Compensation Act; Personal Injuries Act; Insurance Act and other industrial legislation in force from time to time. The contractor shall be responsible for any violation/ non compliance of the labour laws and the Institute shall stand indemnified against any claim or compensation of whatever nature in this regard.
- 11. In the event of any accident during the course of work which may result in any injury to a work man; the responsibility of their medical treatment will fully rest with the contractor and the University shall not be liable in any way to the payment fixed by the Government of Punjab under minimum wages Act as amended from time to time. The contractor shall pay not less than the minimum wages fixed, to the labour engaged by him on the work.
- 12. Bids not fulfilling all or any of the above conditions or incomplete, in any respect are liable to rejection.
- 13. The successful bidder shall get the materials checked before taking execution in hand.
- 14. In case 11-04-2016 is declared as holiday the bids shall be received on next working day.

(Signature of the agency with seal)